Reproduction and Genetics Answer Key for Review Packet
1. 2

2. 1

3. 2

4. 4

5. 2

6. 1

7. 1

8. 1

9. 4

10. 8 and 8

11. 2 reasons to grow them:  1)  produces its own pesticide so it protects them from bugs eating them and 2)  reproduces asexually so it is fast

12. disadvantage-  the insecticide might kill or harm the people and animals that eat the potato too

13. the gene to make the insecticide was put into the potato right after fertilization so all of the cells will make the insecticide

14. 1

15. 2

16. 4

17. 1

18. 3

19. 2

20. 1

21. (38) 1

22. 2

23. asexual is identical genes because it happens through cell division and mitosis with one parent and sexual reproduction takes 2 parents with recombined genes

24. 4

25. 2

26. 2

27. 2

